2SA952

NEC/ PNP SILICON TRANSISTOR

DESCRIPTION The 2SA952 is designed for use in output stage of portable radio
and cassette type tape recorder, general purpose applications.

FEATURES ® High total power dissipation.
Pt = 600 mW
® High hgg and low VcEg(sat)-
hgg (Ic = =100 mA) : 200 TYP.
VcE(sat) (=700 mA) : —025V  TYP.

ABSOLUTE MAXIMUM RATINGS
Maximum Temperatures

Storage Temperature .. .............. —55 to +150 °C

Junction Temperature ............. +150 °C Maximum
Maximum Power Dissipation (Ta=25 °C)

Total Power Dissipation .................. -600 mw
Maximum Voltages and Currents (Ta=25 °C)

Veeo Collector to Base Voltage .......... -30 V

Vceo Collector to Emitter Voltage........ -25 V

Vego Emitter to Base Voltage ........... -50 V

Ic Collector Current . .. ........ ... -700 mA

Ig Base Current ................... —-150 mA

ELECTRICAL CHARACTERISTICS (Ta=25 °C)-.

PACKAGE DIMENSIONS
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1. EMITTER EIAJ :SC-43B
2. COLLECTOR JEDEC: TO-92
3. BASE IEC : PA33

SYMBOL CHARACTERISTIC MIN. TYP, MAX. UNIT TEST CONDITIONS
hget* ' DC Current Gain 90 200 - 400 - Vge=-10V, Ic=-100 mA
hggo* DC Current Gain 50 100 . - Vee=—-10V, Ic=-700 mA
Cob Collector to Base Capacitance 17 40 pF :’__{313; ;AGH(; V,Ig=0

fr Gain Bandwidth Product 50 160 MHz Vee=-6.0 V, ig=10 mA
Vge* Base to Emitter Voltage —600 —640 700 mV Vcg=-6.0V, Ic=-10 mA
VeE(sat)* Collector Saturation Voltage —0.25 -0.6 v Ic=-700 mA, Ig =—70 mA
VBE(sat) " Base Saturation Voltage . —095 -1.2 \ Ic=—700 mA, ig=—70 mA
IcBO Collector Cutoff Current -100 nA Veg=-30V, Ig=0

IEBO Emitter Cutoff Current’ -100 nA VEg=-50V, Ic=0

*Pulsed- PW <350 us, duty cyclr=2.0 %

Classification of hggy

Rank M L K

Range 90 — 180 135 - 270 200 — 400

hgg Test Conditions : Vcg=—-1.0 V, Ic=—100 mA
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VBE (sat) ~Base Saturation Voltage—V

TYPICAL CHARACTERISTICS {Ta=25 °C unless otherwise noted)

TOTAL POWER DISSIPATION
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COLLECTOR CURRENT vs.
COLLECTOR TO EMITTER VOLTAGE
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BASE AND COLLECTOR SATURATION
VOLTAGE vs. COLLECTOR CURRENT
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Ic—Collector Current—mA

Vcg —Collector to Emitter Voltage—V

SAFE OPERATING AREAS

(TRANSIENT THERMAL RESISTANCE)

~2000 e
i ! duty cycles2 %
—1000 <
AN >,
Z
AN
< -
R IIRN \"o
| | HIRAW
i X
3 .
S -200 ™
(=) »%a \
£ -0 N
%’ " N
o
—50
L AN
_2n
-10
. -1 -2 -5 —10 -20  —50
Vcg —Collector to Emitter Voltage—V
COLLECTOR CURRENT vs,
BASE TO EMITTER VOLTAGE
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COLLECTOR TO EMITTER VOLTAGE
vs. BASE CURRENT
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COLLECTOR CURRENT vs.
COLLECTOR TO EMITTER VOLTAGE
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EMITTER TO BASE AND COLLECTOR TO BASE

CAPACITANCE vs. REVERSE VOLTAGE
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